HUNANKUBO



WA SBRA TN ARRA R

Tel: 05612-57272018
Fax: 0512-57272028

Hhiik: JI7E B LskiE EE i B 5685 Dk




. AP e

—|—_|_ DEVELOPMENT HISTORY
M
2016 £ 2018 4F
=4 5] IE 2 A R 5T NSRS T R2 .
Hag¥las AYERCN % E=&4 SIS SR
2013 £

FEEHE] MEEH

2017 £
NEIEWEIZRE 1 T HEBEFA
27 TH 3% B S R EE AN S8 A TR Y
AAERATE

> > INTRODUCTION
T4 ATy




2020 £

MEWUMXBEBESARAG —EE
i ProfiNet. EtherNet. EtherCat
#0 10-Link S 4Z&tEH I E

-------
e
iy

2021 £F

FF 44 37 24 H1 38 A 32
S FFE LR A
K= mER AR

2019 £F

/N E) B STAE IG5 B Sl R 4
KZEEE, WHHTHE
HEZE., AEHKZE, ERE
FARSRH#EFSERHDOS
AR%E

Jlinl

i RYlas A LEN HBGRAS 2017 FAEKDMAEX EFUEMAZ, ) MEHE
PNE—EMYLERANARM PLCIAREY, ASNROEFREIERFR. KEESH

AFRFHEABLAPLC BARR T EEMEE TE 25 A%, N 2018 F75;

BEREARZE. &8, K254 BHBFEAENAZ 8RS, ik .ﬁﬁ;r B3 P Ny ///4
B TR L EEL. /\AEIFE. ProfiNet. EtherNet. I/O-Link 2 2 2845tk | HIEE =< 1325 : /

_ - .*:k 5} | /
2021 A B ¢ EECE S FRA T —it, ﬂkjlj?ﬂk?%f%*ﬂ%A%%mm%i%M%ﬂ&fk%@iE’q%
EBEmBRATERS

s



MEEE
(R &E




. H &

+ CONTENTS
|
AP v 2
BHZEAEER e, 5
TERBES (e, 7
Rt R L i m—— 9
T A2 R sesmsmmmsmmsmnsssssssssssssss 11
SRR v cxvsvassnnrrnssnssnnsnns 13
B TE S e eererersesernninniininne, 15
T A - ST 15
) £ A U 16

| »u%fﬁc

BXKE# EXKEE

Uil



;:f‘ llé\ &*%ij&

+\

EUAXBEBESERASTIYEOF T AU
AMBILBRODERANG R EBRT AR, &
=R EE, %l (Profinet. Ethernet/IP.
EtherCAT. CC-Link. DeviceNET. Profibus.
SV-Link, 10-Link )} i£#E 10 =3k, oliEe &
RRIAEZ UIESE 8

EtherNetVIP"  HoviceNet.

conformance tested

CONFORMANCE TESTED

FthercAT~ @ IO-Link
P[RJOJF] | : PIRIOIF] I

CC-LinkIE o -k
TSN® S\/Lmk

ISl



iR

AR IP20 /O #&th

-
)
al
et
i_.. : . ;:;
.‘ h-i 't ’f o
1 fiL -... i

s v-300

BN i,
R

SEammARANAAAASARSRR AN
AMARAAAARRASSRAREN

el
ol

i]

W nlmin pasn

PLC |

M8
AR

=
=
B o
O
=" e

Kok & o 5= BN

i /0O =R
N /O HEiR JEAFX

H

g 10101616 6

€ i
:(E?ﬁ:

© OI019019]

IP67 324

;ﬂjfj?ﬂ!!
=

U

“?{\

ll:‘.l T.Iu a.lm pll—;

L ! ; -
b, & \, R

: l I- i I I-?I . . I * '?I I '

N /O IR

-
i

- ) 1!"» ‘:::) ﬁ B )

p

908601

M8 4 HC RS
22

&
i %"
[ )
|/ -
¥ o B
e
e
a4

FEL R 1) 97 S

HHREEE
PR

' __
S i M12 4T BEC RS

i
]

o

wrarssH -




g T ER¥r3E

_I_._|_+

TERBREESRERA T WM AL, LT
e ABE TERBREEENERZWIAITL
B, it TWHlass ALIEEA~, TRRRE
ET AV AN TEMN, Vs AlleEzETET
WAlzs AREANHLE, TEMREEHRTIAR
, MITTED A, ETREmERE, WHEH
FHRENXINF. TRRMEED AREFN
TRRAER D, AEEZ LM B ENL,
eSS AMA TEMMBIE. $TH. Nt
AR K. R, BE. mB. 2%, [Hik.
BEIFIRER, NMRUERNINEESLI R
R EZEMEH, 2. Jlss AUBIETE
MPRZSH, SIESEERE, Vss AMERIE
o EMNPE, AEMNRER. gRENZHE
KEK, ], B, B%. ARMBE{ES. 1t
TRRINE N R K DR BZR R, Bz
ek . =X FAE R A

||1

QEWESA v\

-

"l-q

L -

| B $H




BARS%

KB-005A KB-010F KB-020D | KB-040A KB-070A KB-120C KB-230D
PR A R 5Kg 10Kg 20Kg 40Kg 70Kg 120Kg 230Kg
ESMET1H 5.5bar BRI 77 /70N 1190N 2500N 7490N 99070N 15400N 31450N
ERITEREREE 0-60 °C 0-60 °C 0—-60 °C 0-60 °C 0-60 °C 0-60 °C 0-60 °C
EE TERESEETIEE 4-7 bar 4-7 bar 4-7 bar 4-7 bar 4-7 bar 4-7 bar 4-7 bar
s X. YHI R RIB A 13NmM 26Nm S58NmM 210Nm 328Nm 840Nm 2260Nm
RS Z B A RIAY 136 18Nm 35Nm 80ONmM 225Nm 450Nm 1200Nm 2240Nm
X Y  ZEAZ ANEERE 0.15mm 0.02mm 0.02mm 0.02mm 0.02mm 0.02mm 0.02mm
BREE ( AMEEERNEER ) 0.15Kg 0.25Kg 0.85Kg 2 1Kg 3Kg 3.9Kg 9Kg
2 1 A £ 2% v K (] P Tmm Tmm Tmm Tmm Tmm Tmm Tmm
fEREES. E5AW PNP = NPN 5. #TH. EF R T RS EERE
FEM

TEM

wileafing sl




+
7

, BRIRIE

BSREELIRMAE, ], B, 2
ZAEARAREREZEANNA, BT
AL BRI R LW
ZMHE, A-

=P S A=ENIRT)

wiaa,

EE G

AYIRE M, B IRiE E M
TEM, 3

- 2SS AL EFREN A

-, TEMzEAEEE, FEEE

MmE L,

ALY RN fEIREN B

SR ¥E B9 EM&E B A A TE M,
BRRED =R, NITEE SR

fh. XY T aFMEE SRR, BRACHD

RESRE, BETEEREAZER,
A 7T R RILAYER BRI

i) el B 3




WMARSE

o= KB-BI KB-240 KB-F31
R 7/8 5t [E 43\ 7/8 5%
IR WO M12 D & 4K 23\ M12 D B! 4 &
B2 S 2 % 3/8 1 2% 1/2 2 % 3/8
XY A EfME 7C +2 mm +4 mm
Z FEME 7C 7 +2 mm
¥ A EME 7 T +3°
& R R as PNP = NPN PNP & NPN PNP = NPN

d: SIFEFBRSRE, RREIFERFZA 500A,

W e B



+
il

_I_

T kR

M23 M40

M8. M12. 7/8. M23. M40
ZRIrE RS M EFRIE A {3
R, TIWLR
GieH pk, X708 BRI H A ER
Tz R T
TR E S ZH. [ERE R
RimEsZam. R&fE=%

7 ¥ 2 PR A

=<, N

118 5% &2 25 T

R A E

([N

= AE

=
TR

88 4 ABB.

A BE& .
KUKA. FANUC,
MOTOMAN. KAWASAKI ZF 11

e AR LR, hEgn

—
J

777

CINFEREVREERZ R

i TEalings



! +BR- PE iz e w2

Tolrgk R

~
~

Y& NTE:

Elineiaie

i



R EREER

+

EHE R R TS

2 Mm B ST 2 MR F B E ok ik
Y, HEFZENVHAEEHNER®E. T
&t BREHEF T IVaE. MER
i T IVHELLE, FRET RS
ORI R BB S A 7 = (B e i
e ; RE TEE, FARR
D IR37 e 2 B S TRUXUB

[irmly

3 " . . o _- f :\._'_",_:
SN L NI T AT

e

TR A A ""*«“I-'_'Wﬂgj




Wi



HEETF R

£, 8. B Hx<
\

_I_

MU REARXAEHEE AMR &S, sfERE, &
WSeE T, RAmbiaen, BRYE, KRS
ZERIFTIRE

BRI ERAEMANENURER ZHATEL
ITEAIRARIF. MENTRARNERRFE, W
BHIhE. B FBhKEE ST, TIRERer o] LA
R VIR IE N BE 7T o

EERSEXASHEERRERE JEEes, MR
SIMZEEB RO EEL, HEREE, 5FE
FARXA=ZeXNEmET, BEH, REEE,

i BN EFTI RIS K.

L

0] 5p

Lt

ENBRAMER
Pressure unit display section mmHdinHgpsibarkgf MPakPa

X 5 1218 B l:‘ |:' ':‘ ':‘

2 color main display
L.'L"L'- L‘

e S RE TR AT

Lock indicator

ISEEET

Setting mode sub-display section

W 1 BMERERAT
Qutput 1 indicator

£t (A} $ Button - - ‘ T (V) $# Button 8 000
i 22_;’”’5#5.3_7‘*]- & FE$# Setting button a . .
Output 2 indicator

{ ZERJE Compound ) { $aJ% Vacuum ) { IEJE Positive }

72 TYPE . -
= YK-47C-03PnP) YK-47C-01(NPN) Y K-47V-03(PNP) YK-47V-01(NPN) YK-47P-03(PNP) Y K-47P-01 (NPN)
1.03 MPa
100 kPa
0
—103.0 kPa
i 2E [£ J15E B Rated pressure range -100.0 ~ 100.0 kPa 0.0 ~ -101.3 kPa ~0.100 ~ 1.000 MPa
1% 7E I 7158 B Setting pressure range —103.0 ~ 103.0 kPa 10.0 ~ —101.3 kPa —0.103 ~ 1.030 MPa

B R ES S



M8 &= Plug type

M8 £ []

=11+
ﬁ

C€

=11+
%

C€
M18 #£$:3 Plug type

L

MI2 30 (e

g

M12 [

=114
%

L

7= E Product type
22K Install form

7= mm A Product dimension
¥ MEEES Detection distance
7 RE# Technical data
FMEHBE Supply voltage
TE A Combined current
FRINZE Frequency ( Hz )

AneERFE Shell material

7= E Product type
2213 Install form
=M Product dimension
#MEEEE Detection distance
. RE % Technical data
FEHBIE Supply voltage
TEHR R Combined current

FXInZE Frequency ( Hz )

7= E Product type
Z2RK Install form

7= a5 Product dimension
¥ MEEES Detection distance
7 RE% Technical data
FERJE Supply voltage
TE R R Combined current

Hx3n#E Frequency ( Hz )

7= A Product type
Z2RK Install form

7= a5 Product dimension
¥ MEEES Detection distance
7 RE# Technical data
FEHRE Supply voltage
FER R Combined current

FFX3hE Frequency ( Hz )

1= HE! Universal

*F I
M8 x 58 M8 x 62
1.5 mm 2 mm
DC 10-30V
200mA

2000

w4 FESR CuZn—-Cr

12 HEY Universal

¥ I
M12 x 60 M12 x 55
2 mm 4 mm

DC: 10-30V, AG: 20-250V

DC: 200mA, AC: 400mA

DC:1500, AC:50 DC:1000, AC:30

1#E AHEY Universal

% ¥ I
M18 x 50 M18 x 50
5mm 8 mm

DC: 10-30V, AGC: 20-250V
DC: 200mA, AC: 400mA

DC:1000, AC:40 DC:800, AC:35

1= HE! Universal

7 JE3%F
M30 x 50 M30 x 50
10 mm 15 mm

DC: 10-30V, AC: 20-250V
DC: 200mA, AC:400mA

DC:500, AC:30 DC:400, AC:30

HE5E BF = # Extended sensing

#F I3 F
M8 x 40 M8 x 40
2mm 4 mm

e 5 BF 5 & Extended sensing

7 FEFFF
M12 x 50 M12 x 45
4 mm 8 mm
DC: 10-30V
200mA
1200 1000

5% B = & Extended sensing

7 JEFHE
M18 x 50 M18 x 50
8 mm 12 mm
DC: 10-30V
200mA
800 600

HE5E BF = & Extended sensing

7 FEFF
M30 x 50 M30 x 50
16 mm 22 mm
DC: 10-30V
200mA
400 300

s



	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_1_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_10_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_2_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_2_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_3_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_3_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_4_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_4_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_5_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_5_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_6_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_6_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_7_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_7_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_8_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_8_2
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_9_1
	9ccf3125e7cb222a69a9edaad5f21814_de2cff3fa2158211a1233b5d8b14f43c_8_页面_9_2

